-~ 8

I

V L o Y M
http://farbe.li.tu-berlin.de/eea8/eca8lOnp.pdf /.psonly vector graphic VG; start output
see separate images of this pager://farbe.li.tu-berlin.de/eea8/eea8.htm

I

L* tuBIND lightnessL* tyginD ¢ |[Y* TuBaND relative lightness normalized to e L* tuBIND lightnessL* tyginD ¢ || TuBiND relative lightness normalized to e
= (n S background lightnessL* tygne.u S background I|ghtneSSL*TUB‘]Blgy|_|
@ @ 150Q * g ynp= () In (1 +aY) ¢ Al $3 rusno= W) In(1+aY) #" [1b] 1500 L 3 .

g 15} L* Tumanp= (t/2) In [ 1+ b (Y/Y,)] ’ [2a] LL* y=In(L1+aY)/In(1+aY,) R ’ R
S o a=0,3411 1=88,23 t/a=258,6 b=6,14Y,=18 ,* [3a] L¥L* (=In[1+b (Y/Y)]/In (1+b) S [3b] R S
== ’ =0,3411 t=88,23 t/a=258,6 b=6,14Y,=18 ¢ 4b ’ L4
03 1000 R 28 a e (4l 1000 4
4 4
L= S S
-9 . .
>0 — — — —
6"\ =h application application application application
= 6 range range range range
Son fem = = |= = <\LtOreshold fom === = LtOrEShO = = = <Lthreshold = = = <N\Ltreshold
o 01 __,.<" '1 10 'y =18100 1000y R 01 _ 4 '1 10 'y -18100 1000y 0,1 10 |y =18100 1000y R 01 _ _ 10 'y -18100 1000y
—
6' : -2 -1 0 1 2 3logy |- -1 0 1 2 3logY -2 -1 0 1 2 3logY |- -1 0 1 2 3logy
S T Ey e e
5 O AY AYrygjnp tristimulus-value Hifference AYIAY, AYrygjnp tristimulus-value difference AY AYrygjnp tristimulus-value Hifference AYIAY, AYrygjnp tristimulus-value difference
= < L* rusanp,= (Va) In [ 1+ b (Y/Y,)] ' [1c] normalized to AYrygyng,u ' normalized to AYrygyng,u
Ts5 06 a=03411 t=88,23 a=258,6 b=6,14Y,=18 2c] || $6 L rupamo= (Ha) In [ 1+ b (viY)] ) 1d] 06 ' 6 )
S. o dY = (Ap+A, Y)/Aq, see CIE 230; Eq. (Ay7a) [3c a=0,3411 t=88,23 /a=258,6 b=6,14Y,=18 [2d] N f
Q 6 dY=(s+qY)/c, seRichter(1985) [4c] dy/dy, =@ +aY)/(1+ay,) : [3d] ' :
o dY=(1+aY)/t=(1+b(Y/Y)]/t : [5c] AdY/dYu:(1+b.Y/Yu)/(1+b) 1 [4d] : 1
@ % 04 A1=5=0,0170 A=q=0,0058 A=c=15 , [6c] ; 04 . 4 K
—_= N ! '
- ’ ’
=8 ) : ) :
T O m——— U o m ' mmmam
- application ’ application ’ application
(3— = range (dYy(dYy)=1, m;=0,00 . range | _(@dYy@Yy=1, m=000 R range
- — — — — —
= Y,=18, dY,=0,08 dY,/Y, ' Y,=18, dY,=0,08 dY,/Y,=0,004 ¢
=92 oo -\ RN o e 50y a0 - LURARS . JR % SR -"-AlO-m.flleO- =L R
SO 2 3logy |- -1 0 1 2 3logY -2 -1 0 i 2 3logy || -1 0 1 2 3logY
o O =y E e
g = AYIY v Yryugynp Sensitivity QYN T AYIYY YryuBanD Sensitivity AYIY ' YrugJinD Sensitivity AYM) T AYIYY YryuBanD Sensitivity
=c L* tusanp= §2) In [ 1+ b (YIY,)] [1e] ' normalized to [AY/Y]tyginp,u \ ' normalized to [AY/Y]ruginp,u
2 CIT 0,032=0,3411 t=88,23 t/a=258,6 b=6,14Y,=18 12el]l ¥6 L*tugino= (t/a)“m [1+b (YY) [1f] 0,03 [ 6 "
= @ dYY=(1+AV) /() = (1+ DY) /(1Y) [3e] a=0,3411 t=88,33 t/a=258,6 b=6,14Y,=18 [2f] H '
'S: ' @Y /@YY (L +a) IY]/T(T+aY) /Y] (31 ' '
' dYM) 1 @YYy X [(1+b YY) /Y[ (1+b)/Y, 4 '
a; 0,02 \ 4 @YM @YY “[( + WIYTIT(1+D)/Yy] [4f] \ 4 .
1 - -
g % Y application \‘ application “
Y range ——————— -
_9$ . \‘ ?g)r%lé:anon range \‘ application
— A range
o 001 > N threshold 2 e mmmmm——- N threshold N threshold 2 Mg mmmmm—- ’\f‘wgs@@
=0 || Favveoormeooot R = = == == = mmmweE [ TTEAYYYAYY)EL M08, T T T T T T T TR T O (I dvv)=000 m=-000 % = == m = m e (dY/YY(dYy/Y)=1, m=-0,30,
C—w ||bkaspseesseselosna,  _________|ppe;sssscssssnls s e RN | B Pl Pl S e N
T = ,004, . == 1 Yu=18 d¥,=0,08 d¥,/¥,=0,004, == == Y,=18 dY,=0,08 dY,/Y,=0,004
O 3 X 10 v =18100 1000y o , 10 v,=18100 1000y fon 9; 1 10 v =18100 1000y o 0,1 1 10 4v,=18100 1000y
Q -2 -1 0 1 2 3logY |- -1 0 1 2 3logY -2 -1 0 1 2 3logY |- -1 0 1 2 3logY
- S s S S
> YIAY YruBJNnD contrast YIAY) I (Y/AY, YTuJND CONtrast YIAY YruBJnD Contrast YIAY) I (Y/AY, YTuJND CONtrast
o L* tusanD= (Fa) In [ 1+ b* (Y/Y,)] [1g] normalized to [Y/AY]tyginp.u normalized to [Y/AY]tyginp.u
® 300 a=0,3411 t=88,23 t/a=258,6 b=6,14Y¥,=18 [20] 3 L* ruganp= (2) In [ 1+ b (Y/Y,)] [1f] 300 3
Yidy=(@L+av)/(tY)=1+b YN/ (tY) - (3] a=0,3411 t=88,23 1/a=258,6 b=6,14¥,=18 [2f] reemmm=-
| (VAYY(YdY)=L m=0,30 -~ (YIAY) 1 (YdY) = [Y/ (L+aY)/[Y,/(L+aYy]  [3f (Y/AY)(Y,/dY,)=1, m=030  _«="
200 L TUBIND,u=508 Y,=18, dYUfﬂz)ﬁ Y /dY,=222 o (VAN TV = [Y /(1 DYM) T, I(1+D) ] 4] 200 L* TUBIND,u=508 Y,=18, dYUfﬂz)ﬁ Y JdY,=222 2
¢ ! ¢ !
Y e e dm o e o Nthreshold P N trgshold
4 o= -
100 K : ?g’,%iga“"” = _(\:/d_vzr\i /:1\/_\:1_n: :_n_’%n_ —= e m - 100 : application _ _(Z’EYZ(Y_u’f‘@)fl;”_\F_OfO_ L mmmmmmm==——-
= ~ Z range = = =
L, ' L* =508 dY,=0,08 Yu/dY,tQ_ 5L - vtveshog K : g L* =508 dY,=0,08 Yu/d‘Y,tQ_ e N threshold
’ - ’ oo
e 4 1 et 1 application L ‘ ' e’ ' application
. 0,1 = 1 10 'y -18100 1000y - 01 _w='1 10 "y =18100 ange 1000y . 0,1 = 1 10 'y -18100 1000y - 01 _w=="1 10 "y =18100 range 1000y
-2 -1 0 1 2 3logy ||-2 -1 0 1 2 3logY -2 -1 0 1 2 3logY J|-2 -1 0 1 2 3logY

eeaB80-7n

2 e

eea81-7n
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